VYINAIN :8p02 wo9o°suoie|nsdesu3aind MMM //ZZ-€G/-008-1
[ VIN ‘AINgpNS ‘peoy 1s0d uoisog 06Y
suone|nsdesuy aind :Aq painjoeinuew

I'N ‘yieanenu
40 yiewapel) paJelsiBal e S| gale\BWOIY)

_—
“WINIWOIYD PUNOG-UIDBIU PUEIG B1RABLI0IYD ,m._.<@<OzIU

"AuBWLIBD) IpRISWIEQ ‘YEDY MOISIA
10 3Jewapel) palalsiBal e s zUljojeIa|n|

‘aseasip Aue juanaid 10 ‘aind
“Jeas) ‘asoubeip 0} papuajul Jou si Jonpoid Siy] ‘uonesIuIWPY
Bnig pue pood ay3 Aq pajenjeas usaq jou sey Juswalels sIyj,

alelwjed Agioose ‘(isjem ‘as0in|ja) ansded UeLe1aBan SluaIPaIBUI JUIQ

PaysIIQeISa 10U (AQ) anjeA e

(ulpuexeaz ‘auadook| ‘uiain| se)

. Bow gz pUB|G pIoUSI0JeD paxiw Alelalidold
. Bow goL (elevedse wnipeue se) Wnipeuep
B Bw L (812uioA[6 U010 sE) UoJOg
%1 Bbw 'y (s1eiedse wnisselod se) wnisselod

(o1e1iedse wnuspaAlow se)

%L Bow 0g wnuspaAiol
(e1eunoduAjod wniLoI Se)

%982 Bow QoL wniwoiy
%601 bw gz (e1eviedse aseurbuew se) osauebUR|
%281 Bow goL (BUILOIIBWOUB|aS Se) WniuB(es
%L bw gzl (ereurjood ouiz se) ouiz
%bT 6w 001 (e1ea0 WniseuBew se) wnisauBe|y
%L9 Bow QoL (3pIpol wnisse1od se) auipo|
%L bw ogL (e1en1o Wno[ed se) wnioje)
(¢g) (e1eusyrolued wniojed se)

%0007 Buw 00z pioe oueLoley
%EEE'L Bow 00y unoig
%EE8'07 60w 00g (UlweleqoolAAW SB) 7ig UIWelA

(4HLIN-G1 Bow 00Y)
%L9L 340 Bow £99 (JHLIN-G GUII0JeIBN Se) B1ejo4

g pajennoe) aleydsoyd G [exopuAd %6g

%902'L 6w g0z pUE |} BUIXOPUAD Se) °g UILLRYA

soul

%8ES 6w 9g 92t PUR BPILIRUIDRIU SB) UIdRIN

((°g perennde) sieydsoyd g uineljoq

%ELIT Bw G/ v 987 PUB g UILIEYA SE) UAEOOIY

%L9L'Y Bw 0g (49) (IDH UieIy) se) uiwely |

(ereui00ns [018d020) ydje-p se)

%E68 Bw peL 3 ulwenp

%09 (NI 00y) Bow o1 (:Q) (10:3}0[E9[0L S8) q UIENA

%998 6w 00g 108 01005 Se) ) ILLYA

(2121808 \f UILLIRYA SE %0Y

%Ly Bow 05/'e pue 8USJ0IED B13Q SB) Y UIWELIA
A% Bupnseg sad Junowy

09 Jaurelu00 sod sBuIAIRS
sainsdeo g a21s BunIes

sjo2e4 juawajddnsg

@

® (g A
e
g c s
O & Ole o (9]
‘ny O,l m w.m m 7,
w LOD |5y 25 @ w
|28 € - g
Q) Mo |z 82 a 5
~ Q|23 Z0 A 0
3 )Q |53 g= o
olfx 88 2 <
2 Lot 88 wnyu
- :
M D=5 55 £z 2 9
0 =35 |3® ¢ = ®
|- = Sg @ <
9] sl 2«
o
g = © M
°  gP.2 sE3 g ~
£ oS838sg - £33 2 ¢
.8 P2338°%8 s S 8@ c 8
w E=506Q 2 8o s F8 3
Q < =] 2 =82 =l
<2 BFg28 g 8% ££: —
a2 25£8F g & gy 18: =299
g 25%88 § = £88 5%z mmy
3 £98ss 2 23283 _.%8% ZO
oz meww 5 mmmmWWMmm I|0
P S882% w5 85 5888 5§55 wmmm
3 s —
92 3i5E’ 3 E E =
g° 58358 £ [ p—
<gficii ot it =0
ZE=35E2,8 5 gz o)
wESZSEElg 5 o= if =0
e Eg 222853 3 - 25  —
CEZEf8°o2 a §5 —
- S8 §52e58 8 .Enw
w8 2588 ¢ = N~




